| A

k=125 o)
== =

53 . 3

?.

L

= o

Sk
=l

af

Bgr

ol
]

ERvA )

E, 745 5%

=
=

74 250

o
Im Xt, 9% &9 I ¥Hl, BFH

=
=

Hg | EOzgyy, 7

[1Z X14]

!
H
4r

jusel

12}

s 194,

A
ar

2

o] ZgApdelA w11 A e

oA

<

ol sAY s
[T +%]

3. T
5. 19

=
T
ol
!

(m/s)

= ¥t 4o (m/s)

HAl s (cm)
Y gs (m)

Io

&2 @ (m/s?)

=

A
=

2. 12f



(&7 Bd]

A E=7F?

£ oy

A
=

229 7}

off ket

SOIA A[ZHO] &A%t

o
e

SIt4E

1.

ol

«r
—_—
@0l N
o|— :_o
ol
O N
S|® 2
S
< | <
o|lo m
—_—
~l= >
olo N
m Lﬂ.m
1o
olo Wlﬂ ojm
4 ujo
— = ob
T =l el
w (Z2(E ma
S
o |XloR| < U
= |
i ~
oy
<F “
A ~©
o . T
Yo 1 oo
of ol oo —
o Bo o ol
= | =
T % m_ i
<) :._o _._._._ K
B oF
=< H|
T ol
o = N_H. { FUCY
w | M <k
o B S oy
&R Bo O
BT o ”T
ol — —
LGS =z

JEE

=]
=

—
—

o a3 (W)

lod

ojn

o
H 25

SIt4E A

3. A8 (Phet Z0| 2F0| 4kg?l =47t LTS M=t

x| AZHO| [ef LIERH Zo|ct,

Az

(m)g

1kg

e

3 AlzHs)

1

(Lh

(1) 02Y ©f S 422 ATRIZI? (BO|TUYS HA|Q)

(B0 E S 2A|2)

£E9f

(2) A1 7t



